
Two regular 6 sided dice are rolled

The difference between the dice numbers are found


Experimental results

Copy and complete the table 
for the experimental results

Theoretical results
Copy and complete the table for the possible “dice difference” results


Find the probability of ...

2) P(Difference of 1)=

3) P(Difference of 0)=
4) P(Difference of 3)=
5) P(Difference of 6)=
6) P(Difference of  more than 3)=

7) P(Difference of  less than 5)=

If outcomes are equally likely then theoretical 
probabilities are easy to find 
One regular 6 sided dice is rolled so three faces are visible

The largest number of the three numbers is recorded
If 3 faces are not visible then re-roll die



Experimental results

1) Copy and complete the table 

for the experimental results

2) How do my results compare to the 
     class results

Theoretical results
3) What are ALL the possible results?
4) What are the theoretical probabilities?
5) How does the experimental results compare to the theoretical results?
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Equally likely outcomes A








Dice differences








